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(1) All questions are compulsory.

(2) Right sided figures indicate marks.

What do you mean by industry ? Explain any five factors that hamper industrial

growth 1n India. 7
Write a short note on Agglomeration and Deglomeration.
Discuss dynamics of industrial location. 7

OR

Explain any five factors that you will take into consideration for selecting the

location of industry.

Explain the growth and contribution of service sector in India. 7

OR

Explain the problems faced by PSUs in India.

Discuss the importance of PSUs for Indian economy. 7

Explain the problems faced by Private Sector in India.

Discuss the problems faced by SSIs in India. 7
OR
Write a note on SIDC.
Brietly explain the importance of SSIs for Indian Economy. 7
OR

Discuss the role of industrial policy 1991 in SSIs in India.

Briefly discuss New Industrial Policy 1991. 7

OR

Explain the causes of industrial sickness in India.
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(b)

Discuss the sources of Energy.

OR

5. 1 mark questions (attempt all) :

(1)
(2)
(3)

(4)
)
(6)

(7)

(8)

9)

(10)
(11)
(12)

(13)

Define Industrialization

Who gave the theory of industrial location ? In which year ?

What are the different measures taken for Sick Industrial units in India ?

14

According to Weber, which are the two secondary factors affecting location of

industry.

sector 1s also known as primary sector.

Name any 2 PSU in India.

Which segment of service sector has maximum sharedn GDP in India in 2010 ?

(a) Insurance & Banking (b) Hotel & Restaurants
(¢) Trade (d) - Communication

In 2010, lakh people were employed in public sector and
organised sector in India.

(a) 179 and 108 (b 250 and 110

(c) 170 and 89 (d) 218 and 503

Investment limit for the micro unit in manufacturing field 1s

1n

to MSMED Act 2006)

SIDBI was set up in year.

The full formof DIC is

Railways 18 reserved for public sector . (true/false)
The full form of BIFR is

Which of the following is non-commercial source of energy ?
(a) Anmimal dung (b) Oil
(¢) Thorium (d) Coal

. (according

(14) The domestic production of crude oil i1s greater than domestic consumption
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. (true/false)




